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Note : Answer questions from each section as directed. 

SECTION - A 

Answer any two questions from this section in 
about 500 words each. 	 2x20=40 

1. The trade-off between inflation and 
unemployment occurs in the short-run only. Do 
you agree with the above statement ? Support 
your answer with appropriate explanation and 
diagram. 

2. Fiscal policy in an open economy with flexible 
exchange rate will not be effective. Substantiate 
the above statement with appropriate diagrams. 

3. Explain equilibrium output and interest rate on 
the basis of IS-LM model. How do you derive IS 
and LM curves ? 

4. What do you mean by real rigidities ? Why do 
real rigidities occur in wage rate and in price 
level ? 
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SECTION - B 

Answer any five questions from this section in 
about 250 words each. 	 5x12=60 

5. Discretionary fiscal policy may not be good for 
the economy. Do you agree ? Give arguments in 
support of your answer. 

6. Discuss the salient features of real business cycle 
theory. 

7. Explain how Phelp's golden rule is an 
improvement over Solow model. What are its 
limitations ? 

8. What are the issues on which Lucas criticises 
Keynesian model ? 

9. Explain why aggregate supply curve is positively 
sloped in the short run but vertical in the long 
run ? 

10. Bring out the major insights of permanent income 
hypothesis. 

11. What is endogenous growth model ? What are 
its implications ? 

12. Write short notes on the following : 
(a) Rational expectations hypothesis 
(b) Efficiency wage theory 
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